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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the question paper.

Please check the question paper to verify that the total pages and total number of questions
contained in the question paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your question paper code No. 42/0S/1—A on the answer-book.

(a) The question paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugh, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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SCIENCE AND TECHNOLOGY

(e wd drenfe)
212)
Time : 2% Hours] [Maximum Marks : 85
g : 21 el [quits : 85
Note : (1) All questions are compulsory.

(2) Marks are given against each question.
e ¢ (D) @l usT ot ¥
(2) Yd® U & o SHe WA U T ¥

1 Which of the following is a non-communicable disease? 1
(A) Typhoid (B) Marasmus
(C) Ring Worm (D) Hepatitis

T G -9 AT-GbMe T 7
(A) TEHES (B) @™

C) == (D) aFHasny
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A car started with velocity # having a uniform acceleration, after time 7 its velocity 1
became v. Suddenly the driver of the car saw a child on the road and immediately
applied brakes to stop the car. Which one of the following velocity time graph
correctly represents motion of car?

Th &R u 91 § MG IHT B & 3l Teb G0 @1 ¥, ¢ G9A & 4L HH

PT v A A E | IAFG HIATEh Gk UL Uk g0 @l @bl BIX bl U

% fT gid 5% @mar § 7 Freefaiad 999 T H O G- |l T B b
iRl WE T W hh el &7

(A) % (B) %

=~ — (g9¥) Time =~ — (g9¥) Time
(©) % (D) %

=~ — (g9¥) Time =~ — (g9¥) Time

3 Which of the following statements is not correct?

(A) First dose of DPT vaccine should be given to new born child between

3-12 months.
(B) First dose of tetanus toxoid should be given to pregnant mother between

16-24 weeks
(C) Tuberculosis vaccine should be given to new born child between 12-18 months

(D) Polio booster dose (oral) should be given to new born child between 18-24 months.
frafafaq woel & 9 ®9-61 ®U9 & T ¥ 7
(A) T & ¥ T Tod B SLULA. BT IT A1 3 W 12 9E b §9 &A1 Ay |

(B) THERr Wi ®l feTE JeiEs Al YO gAd 16 24 TR % d9 oA @y |
(C) & & o 9 §od & qufses &1 bl 12 § 18 A1 & &1 &A1 AT |

(D) ¥@ A W TN S Bl WAl R (J@E) 18 ¥ 24 WE & 9 & ARy |
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4 In hilly areas water pipes sometimes burst during extremely cold winter because 1
(A) Water pipe cracks at very low temperature
(B) Water pipe contracts due to decrease in its temperature
(C) Water in pipe expands when cooled from 4°C to 0°C
(D) Water in pipe expands on freezing into ice.
Terg wasll H erctie ¢ Al o wrr foqawer aEar & - w1 B ¢
(A) §8d %9 q9 9T UM W WM 9 91g 9Bd H SR U8 Sl |
(B) UMl % UEY A ¥ W FW T faged T |
(C) 9T ¥ ®U 9Fr 4°C ¥ 0°C 331 B uX Hhedl & |

(D) 9EY ¥ 9O UMl 9% # 98 49X Hedr ¥ |

5 Which one of the following radioisotopes is used for detecting brain tumors 1
and disorders of thyroid glands?
(A) 131 (B) %*Na (C) PTc (D) Fe
# ¥ fpge Swam B ¥ 7

(A) 1331 (B) 2%Na (C) PTc (D) °%Fe
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6 Which one of the following functional groups is present in glycerine? 1

O 0] O

I I I
(A) -OH (B) -C-H (C) -C-OH (D) —-C-0-

gl o foefoafeq & @ @F-—a1 afheeea g Sufed 2 ¢ °

(ﬁ 0 0
I I
(A) -OH (B) -C-H (C) —C-OH (D) -C-0-
7 German silver used for ornamental work is 1

(A) Silver manufactured in Germany

(B) Composed of copper, zinc and nickel

(C) Composed of copper, aluminium and magnesium
(D) Composed of silver, copper and aluminium.
GoEe gy 99 H SUAN @l SHa sHe feat ¥
(A) ST ¥ Safed @tar

(B) dR, e o frbw @1 frsemg

(C) i, twgffam qon Affimw & fasr eng

(D) widl, dis qur Uegthtm @ frg ag
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8 A patient is suffering from bacterial infection of throat. Which one of the following 1
medicines 1s most suitable for his treatment?
(A) Omeprazole (B) Analgin (C) Novocain (D) Ampicillin
T T T A Shery] oty ¥ Wfew ¥ | frefatga offal ¥ ¥ siE-ar oftwfy Il
& fog gaifues wemEs & |

(A) YIS (B) THfwm (C) &t (D) ufafafes

9 Which of the following pairs of animals with their scientific name is correctly matched? 1
(A) House crow — Corvus splendens (B) Cat — Apis domesticus

(C) Tiger — Felis lion (D) House fly — Felis domestica

ggelt & fefafad @M W qen dee 9 % gl (@il § 9 e 9

gufeq & 7
(A) WA DA — HEG Wsq (B) famt — UfE SWfewm
(C) I — W A=A (D) = weREl — Whifad SHRE®
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10  Define time period and amplitude of a pendulum. Calculate the number of oscillations 2

made by a simple pendulum in two minutes whose time period is one second.

G WicTeh b SATIChIA STT ST bl IIHTIT ST | Ueh XA @Icieh [STaehT SATIehI
T b &, 2 fafve & foaw dew wom ?

11  What is the difference between ‘mass’ and ‘amount of substance’? Write their SI units. 2

FA™ quT dard @ AEn W Ry oK ® 7 39 &Ml & S.I Unle fafau |

12 Out of C,Hy, C,H;OH and C;Hg identify the fuels having (i) Highest calorific 2
value and (i1) lowest calorific value. Give reasons for your answer
C,H;, C,H;OH &R C;Hg ¥ ¥ T 389 &l WedW ity g oo am
(i) efepaw T ofX (i) <A@ ¥ | ofdY ITX & QT HR0 SAEC |

13  What are comets? Write their composition. Why is Halley’s comet called a 2

periodic comet?

Yy w1 § ¢ gk @ HLaT R’ B € 7

14  Write any two functions of lymph in human body. 2

AqrE g H wE e o wis al ®e fdtey |
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1S Write one most important precaution which must be taken while handling a person 2

with third degree burn. What important first aid you will administer to such a person?

g 9ol & Sl el H ITEAR B GHY fhd U dS HEQUYl QAT bl

T HEA STE9T% & ¢ UH Al Bl ST DI o "eayel yraftes fafean 3 ?

16  Name types of the orbit of a weather satellite. What are the parameters of this satellite? 2

HET IUAE ! BETT b TbX &bl I Ia3Y | 39 SYUE & Ul & AW &1 8 d & 7

17 Consider the following reaction between zinc and dilute sulphuric acid. 4
Zn(s) + H,S0, (aq) — ZnSO,(aq) + H,(g)
Answer the following questions based on the above chemical equation.
(1) Name the type of chemical reaction
(1) Calculate the volume at STP of hydrogen gas that would be produced when
49 g of sulphuric acid reacts completely with zinc.
(1) The mass of zinc that would be required to produce 322 g of zinc sulphate.

(Atomic mass : Zn = 65, S =32 H=1, O = 16)
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- fed Ty e qen 97w onet % s tffsan o weveRter uX T Sifvg |

Zn(s) + H,80, (aq) — ZnSO,(aq) + H,(g)

Ul TErEiTE e Xoanai frefafad g % s difvg |

() TEEtE afHfear & YeR @ AW 9dEe |

(i) & 49 ¢ TeR® o i ¥ T @ ofufhar &y @ sEgeH TE @l
STP WX fobe1 e wra &rm ?

(iii) 332 g i Tehe UTH B & WU F5fep & fepam Fom™ ot STEsTewar 2R |

(IHIY] gegdq = @ Zn = 65, S =32, H=1, O = 16)

18 Why are covalent compounds poor conductors of electricity? Define bond length 4
and bond angle. Which one of the following will have minimum bond length :
C-C, C=C and C =C and why?
gEHds A faga Ol wf TeRid TR eid ¥ 7 ofEY WalE qu1 o™ il @i
wfeaTn fefed | Rretetaa § @ Reae amed o e @ 7

C-C, C=C, C=C sirei 7

19  Give reasons for the following : 4
(1) A ship made of iron is able to float on water whereas an iron needle sinks.
(1) A player while fielding in a cricket match moves his hands backward to catch
the cricket ball.
frefefad & ®wRv SaRY
(1) e ¥ S TR B SRS T H A E SR AL bl gg A A S ST §
(i) &= od g9A fhcheTaeer e & Qe AT El Bl W @Bl S W Sl
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20 With the help of a ray diagram show the formation of image by a convex mirror 4
when an object 1s placed at a distance of 2 f from the pole of the mirror. What

is the nature and position of the image formed?
qfs s I%J T o9 YT &6 gI F 2/ W T4 T W T q@, Th fe omw
% WAl | Ik Ui 1 g1 q9ligd | Uit @7 Ut qen Rafa @ grm 7

21 Explain the process of differentiation of the earth. What material the inner core is 4
made of? Why 1is the inner core of the earth solid though its temperature is higher

than outercore which is liquid?

g TINET UhhAT @ WWEEY | AT @ SN his fhd Uerd @1 1 wa
T 7 g @1 STA® his §gd oif¥e A UX BN WX 3 R’ qar T waih
g0 BIS A A9 BN U W FI oyt § ¥ 7

22  What are the raw materials required for the manufacture of bleaching powder ? 4
Describe the process of its manufacture. Write the equation of the chemical reaction
involved in this process. Write any two uses of bleaching powder.
oSt o1 & IqeT & fod fopq wedl Anl @ oTasdedl Bl § ¢ S SdIed
faftr @1 avi= wifstg | 3@ wfean & et afiean w1 e fafae | s
Tof % B & suEE fafey |
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23  Following is a portion of long form of modern period table where A, B, C, D and 4

E represent elements placed in different groups and periods :

112 (3-12[13[14-17 |18

H He
A B

C E

D

Based on the above portion of periodic table answer the following questions :
(1)  Out of elements A and B which one has lower ionization energy and why?
(1) Out of elements C and D which one has smaller atomic radius and why?

(111) What type of element i1s E? How many electrons does it contain in its outermost shell?
frfaRad syfTe odd @Rl & 9 @ed ¢, @ A, B, C, D ofX E fafy=
Fl H R qUT oTEml § qSTE TN ¥

112 (3-12[13[14-17 |18

H He
A B

C E

D

SUUSHK A GOn o HER ) et 9ot & IO Afeg

) AR BH ¥ fpwehl = ol &wH & 7 AT IAX b fog &R fafad |
(i) CoR DH ¥ fopmedt wxay] B &7 & 7 o0 SaX & g &reor oy |
(i) E fp9 Y& & q@ & ¢ 396 SedaH Al H fbad goag € 7
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24  Name three main parts of a generalized cell and write any two functions of each. Which 4
organelle is responsible for the release of energy in a cell and how is energy released?
Teh GG SIS & A9 JH@ 9FN & M faiey | 379 o Y% & @ls af
H fafag | fepdr ifdtet  HIF-|1 BB Holl e & & 7 98 ol hdl
e e & 7

25 Draw a labelled block diagram of a TV-transmitter. Which bands of electromagnetic 4
waves are used for local TV broadcast? Why are the TV towers made high?
fafas U @l AHifhd Sie-o@ SAEY | WHE AL TR & fau gy
FEHE TN & HA-A §S ITA B I 2 1 A TEa S’ T
S & 7

26 What is meant by rotation of crops? Why is it beneficial? Write two advantages of 4
using improved variety of seeds while growing a crop. Name any two improved

variety of seeds for growing wheat crop.

RIS T BT & 7 9€ ol WINEEe € ¢ BhEd ST 9ud Sl @ Seid el b
SR & @3 & WY fafed | T & ®Ed I & faw O @ & I=a feedl %
T fafted |
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27  What are reflex actions? Which part of our body controls reflex action? What are 4

the various components of reflex arc?

gfaad fseam o S & 7 TN IR @l ®i-g1 Wi yiaad fearen w1 fEsm
Hal & ¢ Widad @9 & Oy wew wm ¥ O°?

28 Describe the construction, principle and working of an electric motor with the help 6
of a labelled diagram.
faga ey o W3=m, e qun SRYTel Uh 91Urey Amitea faE B geEd

9 9uHARe |

29 (A) Name any two principal ores of copper. Describe with the help of a labelled 6
diagram the process of obtaining pure copper from impure copper. What
happens when copper reacts with concentrated nitric acid? Write the equation
of the chemical reaction.
qE & o Y SERhl b AW faed | Th o (Fa) @ "erEan 9 SIS
GLEARIE) o G e B o i 2 7 e s | LG S R C A G
s s ot | Wishdl &l & 7 39 et srfHinan @ gevenr fafey |

(B) When a statue made of copper is kept in moist air for long time, it is covered

with a green coating. Explain why?
S T TN AR B TN G T T A H @ 9T 89 WX B T @ a
9 SR ¥ | qE & BT ¥ 7
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30  Which type of proteins are called biocatalysts? Write their functions and name of 6
elements present in them. Name any two diseases caused in children due to protein

deficiency. List two symptoms of each of these diseases.

fhg WK & WAl Bl o9 IAIH Had & ¢ 9% B QU I SURYd d<dl &
T gy | 9RF @ wH § Sel § e feel & N % AW fwfedy | 3w
gFl WM &% E-a WOl bl gur §AEy |
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